IES MURILLO Departamento de Matemadticas

EXAMEN NUMEROS ENTEROS (INTEGERS) 1-2-2008
1.- Work out these operations:
a) [-2-5]:7+3=
b) 3x2—-(-5)x(-1)+7x(-2) =
c) 4x[(-2)-(-3)]+14:7 =
d) 2x(=3) + (-5)x(+2) — (-7)x3 =
e) —2—(-3)+2x(-5)-(-4) =
2.- Calculate HCF and LCM of:

a) 120 and 36
b) 550 and 60

3.- Arrange in ascending order:
-11,+8,0,-10,-5,6,+7,-13, 4 /
4.- Arrange in descending order: .
-12,+17 ,1,-1,-6,13,-7,-13, 14 \

5.- Fill in the gaps:

a) \/_ T3 S b)-4isa............ humber

€)2¢4 2S . 4 d)-1>-5 -lis ..o =D
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IES MURILLO Departamento de Matemadticas

SOLUCIONES
1.- Work out these operations:
a) [-2-5]:7+3=-7:7+3=-1+3=+2
b) 3x2 - (-B)x(-1)+7x(-2) =6—(+5)-14 =6-5-14 =13
c) 4x[(-2)-(-3)]+14:7 = 4x[-2+3]+2=4x1+2=4+2=+6
d) 2x(-3) + (-B)x(+2) - (-7)x3 = -6+ (-10) - (-21) = -16+ 21 = +5
e) —2-(-3)+2x(-5)-(-4)=-2+3-10+4=-5

2.- Calculate HCF and LCM of:
a) 120 and 36

120 |2 36 |2 120=23.3.5
60 |2 18 |2 36=22.32
30 |2 913
15 |3 3|3 HCF=2%2.3=12
5 [5 1 Lem=23.32.5=360
1
b) 550 and 60
550 |2 60 |2 550 =2-52 .11
275 |5 30 |2 60=22.3.5
55 |5 1513
11 |11 5|5 HCF=2-5=10
1 f LcmM=22.3-5%.11=3300
3.- Arrange in ascending order:
-11,+8,0,-10,-5,6,+7,-13, 4 /
Sol:

-13<-11<-10<-5<0<4<6<+7<+8

4.- Arrange in descending order: .
-12,+17 ,1,-1,-6,13,-7,-13, 14 \
Sol:

+17>14>13>1>-1>-6>-7>-12>-13

5.- Fill in the gaps:
a) 4/ is asquare root b) - 4 is a negative number

c) 2«4 2isless than 4 d) -1>-5 -1is greater than -5
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